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= Year 7/8      = MEASUREMENT      = Worksheet 4
	1. Estimate the radius r and area A of each circle in the cm grid.
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	2. (a) Use the estimates obtained in Q1 to evaluate the ratio 
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 for each circle. (b) Are the two answers in part a about the same?
    

	3. Estimate the base b, the height h and the area A of the parallelogram in the cm grid.








	4. (a) Use the estimates obtained in Q3 to evaluate the product 
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	5. Two triangles of the same area are formed if you draw a diagonal from the top left corner to the bottom right corner of the parallelogram in Q3. Write down a formula for finding the area of one of the triangles.
	6. Find the area of each triangle between the two parallel lines.
The triangles are labeled as A, B and C.

                                              B          
                                                              C                     10 cm
                               A                       

                                                5 cm      5 cm

	7. A wheel rolls on a horizontal surface without slipping. The diameter of the wheel is 1 m. What is the distance travelled by the wheel when it makes one complete rotation? 

	8. What is the length measure of a square that has the same area as a 45 cm by 5 cm rectangle?

	9. Find the perimeter of a square that has the same area as a 36 cm by 9 cm rectangle.

	10. The area of a square is 15 cm2. Estimate the length measure of the square to the nearest cm.

	11. Find (a) the perimeter and (b) the area of the following figure.

                                                           12 cm


                                        
                                       12 cm

	Numerical, algebraic and worded answers.









1.  Smaller circle: 3.5 cm, 38 cm2


     Larger circle: 4.5 cm, 64 cm2


2.  (a) Smaller circle: 3.10


          Larger circle: 3.16


     (b) Yes


3.  b = 8 cm, h = 5 cm, A = 40 cm


4.  (a) 40 cm2  (b) Yes


5.  A = ½ b(h


6.  Same area for all three, 25 cm2


7.  3.14 m


8.  15 cm     9.  72 cm     10.  4 cm


11.  (a) 48 cm  (b) 80 cm2
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